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 	�: ���@ ���*�650 5� \�� �� 7HJ� 	3� ���) .  
   �B�$ C:�=�B
  5B���$ C��3��=�O� :$ 5J� '@ 5�  = Z
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  C*T6$ �� 	;;_F ��V�$ �) $R6   ]B  �B) [=�B�� =   = 5B)@
y	3�$  5N;O� C�45�     $� C:�=�B
  C�B4 ]3B2;�* $ C�$���G = ������ 
^$�% �) $� 56�2J
� :$ 5��� #��2� 1$*F

�$� "�$U�$ 	�RG 7;�@ f+��� ��.         = [	B< f+�B�� �� 56�B2J
� = 5JB
� �B) 
B�O3� �*B;� 1�3��� A�	3��� �8�9 :$
= ��	� 
�� :$ 1$*F 5� ?C	;2�	< ��;� Z
� �	) [�� ����    .  

 �=�% 5����@ #o=U� P�*3� �) 1$	�$252 53��� 5� '*2O� 1��9 Z
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� ����G ����� �;�4$ =� A�$ :$

= C�=	` 1@ #$	i$ "4�  ��$ 5F�;% .^$= �� .  
     ��*B� 1$UB;� :$ ?5�o*B+ 5��B�: ��=� �� 
X� Z� :$ ";) C$	) m��) �  5���: �  ��$ 5H;b+ �i��% Z� 56�2J
�

 �*� 	3�  \*�H� �� ��~3�$)��	< 5�� �� 	
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;) :�;� ��*� 1��: 
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� P�$	� ?��X��� C:�� 1�2J� .  
� ?m��) #�Eg+$ :$ ���K3�$ �) �*~�� A��) �)*+ = �����=� = 1��	9 ?>��... ��	< 1�;) 5�  #�*D �) 5���X��� .

5� 5�	H� 	�: �� �Dg� #�*D �) �  ��*� .  
 p���PN )percent of Normal(  

 m��) A;T��;� �) �b2� 5<����) �D��30 ���� :$ �6��       = j�B�� �� m��B) 1$UB;� �B2���� C$	B) �  ��$ ��X��� A�	F
 I83�� C�����:5� ��J) ����	) C$	) AJ;6 = �=� �2;� 7���� 56�2J
� #��2� "4�  = CU�� .  

 p���SPI )STANDARDIZED PRECIPITATION INDEX(  
    �B���	) �� = �B�$ ��B� ���B�� ��) 1��: �� 5<����) \��3%$ y��$ 	) 5<����) ��� ��$���3�$ p���    56�B2J
� CUB��

��$� �	)��  .[�E ���4� 1�
� 1@ �bk� �$�E$ ��$ ����G A�$ �*9= 	T��;) 5K�� �$�E$ = 56�2J
� .  
 p���PDSI  )palmer Drought Severity index(  

 f+��� C$	) >�� �)*+� C��b� 	) 	�6�G p���         p��B� AB�$ �B�$ ��B� CUB�� u	B+ C�B�8) = 53B2G 1=�) = ���
5� 1�
� $� 5����$*4 56�2J
� �4� . C��;)@ �h 	<$)�� '@ \��HF 	) 1�2�$ "��> (  5B� 	B~� �� U;� $�  �	B;< .  1*Bh

����	) C$	) ��$ p��� A�$ y��$ >�� �)*+� 1$U;� ��$� C���: �	)��  56�2J
� "��G = C:�=�
  CU�� .  
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 p���CMI )crop moister index(  
5� �$	^ 5��	) ��*� $� C:�=�
  56�2J
� P�� ��;< �)*+� p��� �4� .   �B�$ 5BT3K4 5<����) m=� A�$ y��$

5� 	;;_F 1�J� = 1��: �) �  ��$ ��� 5%$	+ #�� ��F*  C��3)*+� "��G C$	) = ��  .  
 p���SWSI )Surface water supply index(  

4*  f+��� C$	) 	�6�G p��� 
;�JF C$	) p��� A�$��$� �	)��  U;�)@ �`*% �� = ��� 5%$	+ 5��32 . p��� A�$
  1$UB;� ���4� 1�
� = ��$ ��� ����� ��) >�� �M�= �;�	L = 5<����) ?�����=� 1��	9 '@ 1$U;� ? �	) 1$U;� y��$ 	)

 ��$ �`*% 	4 �� y	3�� 
)�^ '@  
 p���(Reclamation Drought Index) RDI 

$� 56�2J
� #�� = #�� p��� A�$ 5� 1�
�  5B� ���K3�$ 56�2J
� 5�;) ";G ��9 = �4�  �*B� .   p��B� AB�$ ��
      	B;�bF = �B�� �$	B�4 �B) '@ �	B;�� 1$U;� = '@ 1��	9 ? �� ?5<����) ?#�$	% �9�� �) �$	�4 U;�)@ �`*% '@ 1$U;�

5� �$	^ 	~��� �	;< .  
  
  
  
  
    
  

  

  

 ���	 
��  
    ��	� ����1 y��� :$ 5J� 5���^ = A�	F    C	�RBG�� ��BJ�$ "�� �  ��$ 1�2�$ C$	) ��� �3���� �*;� 1�3��� A�	F

��$ �3�$� 	
) 1��F 
��JF = �H�*F �� .  
    �*;� ��	�  �9*F 
)�^ C��^ �$*� 1�*) $�$� �8E �) �  o�) 5n$RS m:�$ �) ��$ C$)  �=�B%70 (%    r	BX� 	B) �=gBE

�$*� U;� �H�D �� ?5n$RS           �B;�F ?C:�B� �)�B�*� ?C:�B� 5��	;B� �B���� 5H���BD �� q*BX�) ?�3B�$� 1$=$	B� ���K3�$ �
5� 1@ C�4 ���=@	� = ��	� ���@ 	n�~� = #*0�       5T3B2)$= �B�;�: AB�$ �� = ��B� 	J� A�UT��9 C���: �=�% �F ���$*F

) �� = "4�  5F$��$= 	J� �) $� �* R� .���D �*+ �	) 58 ��:�� r	+ .  
     r��X� ��	� ��� ?��	� �	;� 
��� �H�D �� ��	� I83��)��	� 
2E (     ���BXE ?
BJ6$ ?�B�	� � 	B� ?.��� ��^ ?

      �� 1@ #�H��B` :$ = 5ONB� 	i�B� �$*B� ?
BJ6$ 
��*6 ?*;3 $ A)	  ?AS=� 1@ �324 :$ = ���b;� [$� >$�*� = �)��*�
 ?5�3��BB) r=	BBL z$*BB�$ ���BB� �� �BB�	� �	BB) :$ = �*BB;+ = [$� >$�*BB� 7BB; 	F �� �BB�	� '*BBh = �BB�F :$ = 	;BBX%

                                                      
١ Phoenix dactylifera L.  
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   �B��  5B� ���K3�$ ��8G = �����3��� "�*G �*N�;�4 = C:�� RS�  = C:�� 1�G*�� #�V�����  )   ?1$��BJ�4 = �B;4���
1378 .(  

     f+��� �� ���� A�$ �;6*F = #�;% ��$�$ �) ���^ 56�2J
� =  5)@ ]  P�$	� �� = C	;2�	< ��;� Z
� = [	<
� = ���) 5� \*XO���$ f;�E = �*b�$ C�4 �
�� �M�*) �*� I83�� C��
�) Ct*6*�U;� = ��3��� 1*��� $� �*� [$=. 

��	� 
��  #�$	% �9�� ��38-32 53��� �9��  #�$	% �9�� :$ 1@ ��� = ��$�$� $� ��� A�	3)*8N� �$	<40  �9��
53���  �� = "4�  o�) �) �$	<45 53��� �9�� 5� I^*3� �$	<  �) ��$ �*��4� 5� ��$�$ �*� #�;%.  

    �*;� 	��� �) �2���� �� 5� C�*� �) ��=��� A�	3
;) C$�$� 
�� �4  ���))1975 ?Arar  .( �F '@ C�*� �) ��	� 
��
 �~8S7000-6000 5G 5G  ��$� 1�
� ��=��� [$��$ .5� $� ��	� 
��  C�*� �) '@ �) 1$*F5/3    	B3� 	B) {���: 5��

1@ 1=�) �	  C��;)@ 4 � �; ��@ �*9*) \*XO� �	J8�E �� 5
4�  ��*< .      #o*BXO� �B�4 :$ �B�	� 
B�� .B^$= ��
��$ 	3�=��� C�*� �) �b2� 	T�� .\=�9 ��)1 (
�� "� $= �*O� = 
�OF 1$U;� ��	�    >�B� = '@ C�*B� 1$U;� �)

 	T�� �*;� 1�3��� 5�	) �) �2���� ����$ ��� ���=@ .  
 \=�9)1 :(� 1�3��� \*XO� "4�  �D��>�� = '@ 5J�	3J6$ ��$�4 1$U;� �) "� $= �� I83�  

����  <�=�� >��� !?�+  81�
 �@� !A  

0٪  10٪  25٪  50٪  

-���9�*  2� !�  ECe ECw ECe ECw ECe ECw ECe ECw ECe ECw 

����  0/4  7/2  8/6  5/4  9/10  3/7  9/17  12  32  3/21  
��%  � ��9�� '��F%   7/2  8/1  8/3  6/2  5/5  7/3  4/8  6/5  BBBBB BBBBB 

G��� 	��7  8/1  2/1  4/2  6/1  4/3  2/2  9/4  3/3  BBBBB BBBBB 

�+�����  3/1  9/0  8/1  2/1  5/2  7/1  7/3  4/2  BBBBB BBBBB 

ECe  =>�� 5J�	3J6$ ��$�4  
ECw  = '@ 5J�	3J6$ ��$�4  

   
     �Dg� ���3� �  �3�	< #�*D U;���	� I83�� f+��� �) ��;< A�$ C��<:�� �*O� �) �N)$� �� C��H3� #�H6�N� = ��
4=MG

 \=�9 �� 1@2 ��$ ��� ���=@.  
\=�92 :�*
  C�� ��	� ���E f+��� �� ���  ��9 [�^�$ �;D*F  

��9�  H�% 2:�� IJ�"� K�� �1�% � K�� H�L�   H�% H�L� )�
( 

 ��9� 
���.��� 

 = C��)=�< ?y�bE���) ?'��;�
 ?U�	4 ";  ?]
^ 	�$U9 ?Z��9

C	;� = 5�*�*)$ 

 C	�� ?C�*F) r	X� ��9
�:�F C�*�( 

5%	) ?���$�	�) #�*X) r	X� ��9
>���(C=g% ?7X� ?qg� ?) r	X� ��9

�:�F C�*�( 

��2^ ?*4�;� ?A;�  = 5)*�9 C�4
?C��b3
4 = 1$�=� CU 	�  

\*V� = C�*F �3�	  ?CU;�� ?5%	) ?���$�	�) r	X� ��9
�:�F C�*�( C=g% ?7X� ?qg� ?) w��	D

�:�F r	X� ��9 C�*�(  
59�%  = 1$�=� \��� ?��)@

���$� Z32) = �	<�
) C�4  
 = C�*F ?C�4$: ?C	�� ?[��;G

\*V�  
CU;�� = 53��W� ?5�*D��  

 ��9� �$��� = -*��  ?]) ?��	;9   [��;G ?C�4$:) ��N���$��� ( 53��W�– �3�	   
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�����   \*V�)�=�O� eN�(  
 

 

 ��9� 
��9����  

:$*4$   ?C	�� ?C�4$: ?1$	�H3�$
 ? \*V� ?�*� �8^� ?C=g%

5�	�  

]�	) ?��N�< ?	J� ?5%	)  
  

1�<���   ?C	�� ?C�4$: ?1$	�H3�$
5�	�  

C��*E ?]�	) ?��N�<  

	�
�	� = 1$��)@   ?C�4$: ?C	�� ?1$	�H3�$
5�	�  

 ?��3�< ?5%	)]�	)  

1��b�)  C�4$:  '�Jb  ?5�*D��  
 

 

 ��9� 
�#:��  

1�323��  ?\*V� ?5)��� ?C�4$:  5%	)  
1�32T�F  \*V�  5%	) ?'�Jb   

]9  ?\*V� ?[��;G  5�*�4�� ?5�*D��  
53��  5)��� ?\*V�  	J�  

 ��9� 
O��7  

 �	�o ?1�3��o ?'$�$� ?[	�9
 ?A�:�� =	;^ ?��b�$	�? ��)@:=	;�

1=�:�   

 ?[��;G \*V� ?C�4$:) eN�
�=�O� ( C	b�^ -�%) ��N��

[	�9(  

 '�Jb )1=�:�  ( 53��W�)'$�$� ?[	�9 (
 5�*D��)e�� = A�:�� 	;^ ?'$�$� ?1�3��o (

 5��4��)'$�$� = [	�9 �M�*)(  
 �
)"�

��9�P���  
1$=$	� ? 	�� Z;� ?	�
�$	�$   ?5J8  ?C�4$: ?[��;G ?5)�

AJ� ��� ?=:��;G  
53��W�  

      
2- �	�� �����  

��;� = C	B;2�	< f+��� �*B;� 1�3��� �B8�9 :$ ����   ��$*��� �) f8H3� �  ��$ C	B;2�	<Rhamnaceae 5�  ���))7 
=10 (= ��;� = C	;2�	< f+��� :$ C��;2) �� 1$	�$ �8�9 :$ C	;2�	<? ��4? 1�32��_�$? ��	)? ���*�? 1��b6 ?A;N28�? 

�;6$	3�$? �J�	�$? �;��0�$? �;6�3�$? �2�$	� �3��� m	32< ���	�$ \��� = $�� )15 .(  
    �*;� ���� A�$? �:�F #�*D �) 1@ �*;� :$ ���K3�$ 	) �=gE ��*) ��*~�� ��h 54�;<  1@ �	)��  A;�l�4 = C�*�

���=@	� �;�F ��  :$ C	T�� C�4�	)��  ?�*;� ��*G = �	;� ?5��	;� ?m$*J�$ ?�*;�)@ ?�)	� ?5�	F �8�9 :$ 5b��9 C�4
:$ AJ���) = a�K% ?54�;< C�4=�$� ?��*8E ?[U;4 ?�$*6$ �;�F 
;b^ 5� ����:�$ ���� A�$  �*�)29 .(  

    5� r	X� C�*� �:�F #�*D �) w�F��E = ��$ C*�� = �U��*� ��;2) ����  �*;� �*� =  ?Z
� ����  ?����  #*0� 
����b;� 1@ C�4 ���=@	� 	��� :$ 5�	F = ����  �*;� '@ ?����  C�)	�.  

    ��324 5n=�$� q$*� C$�$� ����  ��*G = �	) ?�*;�.  
    [=��� ����  ���� ]  = 5J
� P�$	� �M�= �) 5N;O� ��� P�$	� �) �*;� ���� A�	F  = C�*� ?5)@C���  o�)

5� ���). �
�� ��;< ?1@ f;�E C�4 $� 5� ���^ 5���: �� 53% = ���� 53)*+� y	3�$ P�$	� �� �F �:��  >�� � 
Z
� wg��  5ON� ���) �������) ���: ? . "4� #�K8F  '@*D �)#�  �) $� ����  ?�	) eN� :$ 	;�bF
Z
� C��;8 =	J;�? ��$ ��*�� 	F��<:�� ��;2) )14(.  eN� :$ ?5�$*4 = '@ I83�� P�$	� �OF 5)*� �) ���� 
 z�KF�$ �F �3�	< ����1000 5� ��� ���� eN� :$ 	3�  �)��)28 .( ?5)@ ]  �) �b2� ���: ��=��� 
;6� �) ����  ����
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 1@ Co�) 
�OF #��^$	� 
)��� ���>�� 7������ P)C�*� = pH o�) ( = '@ P�$	� �) 1@ 56�E ��;2) C��<:�� =
5� �*
  5^	� '*�9 = '*�9 5%$*� 5n$*4 ) ��$*F � �
  C*T6$ ����	) �� ����:�$ �*;� ���� Z� 1$*�E

�	;< �$	^ �9*F ��*� f+��� A�$ �� 5S�) #o*XO� .�F �*
  �� ����  �
  	;�$ C��6�� ) C��VF �b�9 � �3�	T� �*�
�*) ) �*
  �� �*9*� ����  1�3��� w��*�E = � z�$U� = ��S�) ?��4*  ���$� ?����)�;) ?��3�� �� ��� $	G = =��*� #�*D

5� ���� ��*� . �*
  5)*�9 C����3�$ 5�	) �� ����  I83�� C�4 �3��$= :$ 5�V2�� = ��� Z� C��S�) $	;�$ 56=
�	4 ?	��*) �8�9 A���$ ��� x$�%$ 1�32h*8) = 1�<U . A;�l�4 C��4�T32�$ = f+��� :$ 5WH) �� 	;�$ �6�� ��h ��

��$ ����	< �
  ���$� 59��� ��
�� �  C��*;G ����  [�^�$ :$ 5WH) �*
  5F��;�OF .  
    1$	�$ ��  ��%$	�*) = ��*8;J�  ?y��� ?1�<U�	4 ?1��	  ?1�32h*8) = 1�32;� ?1�3�:*� C����3�$:$ 	��*) =  f+���

) �*
  �� ����  "� $	G ]�� ���=	;� ���� .  
     54$	F)1384 (��;�: �� $� 1$��J�4 = �*� #��;�OF ���3� �3��$= 5������ C�4  ����  	F	) C�4 $� 1@ 	;kJF = u	� �)

��$ ��*�� m�$U< 	�::  
     z*�V� :$2500 ��� 5)��:�$ ����  ����? 12  C�4�  �) ����AT01? AT05? AT06? AT11? AT13? 

AT14? AT15? AT20? AT21? AT24 ?AT25  =AT27  ���� '��3�$ 	F	) C��0;F*�� 1$*�E �) . �Dg�
 \=�9 �� ��� 5������ 	F	) ����  1�3��� #�KD �) j*)	� #�Eg+$)6 (��$ ��� ���=@.  

    �3�� = ��� C�=@�	< #�Eg+$ = ��;��	) �) �9*F �) �> 1�3��� C��) ?�3�� ���h �) 1�3�:*� 1�3�$ �� �*9*� ���
5� ��*F �� 5�o�) ��;2) z*�F �  ������ 1$*F  = �*;� 5K;  = 5��  I83�� #�KD 	~� :$ 1�3�:*� 1�3�$ ���  C�4


J� �� 5�*<��*< = ��$� �*9= ����? ���? \*+? 	N^? 	F 1:=?  z*�F A;�l�4 = �324 = �*;� ]V% = Z
� 1:=
��*F �� 5J;3�t 5�S ��$U� �*9= 	T��;) �324 �) ��*< �b2� �� ��$ 1�3�$ ����  C�4 .��*< �$�H3�$  {�9 C�4

�:U�3��$= = ��0;F = y*K�  1��@ �*9*) YE�) ?�$:@ 5�
<	<� ��9 ����  1*<��*< C�4 A�$�t ��$U�3; 5J5�S   �3
<
��$ .  

    =�3��$= �*;� �� #=�K3� C���$U;� �) I83�� #�b; 	F �*9  r��X� �� $� ���@ �	)��  1�J�$ ?��� 5������ C�4
�:�F r	X� 
;b^ :$ 1*<��*< �32) .���D ?C�*� 5� ]4$	� #$���D = C�=@	� ?C��) �:�� .1��4  ���	< 	 � �  ��*<

�3��$= #gJ
� A�	3<�U) :$ 5J� :$��$ 1�*) Zh*  5
%= C�4 �*;� �) 	k $�%2 [	< ( �) �324  �b2� 1�*) o�) =
��324 r	X� 
)�^ 
��  5<�;�� �8%	� �� P�� 78S$ = ��$ ���@ C��2G�$:�) [�E �V;3� �� = �*;� ��*< . ��

56�% �3��$= �  �*;� C$�$� ��� 5������ 	F	) C�4  :$ 5�	) = ��324 ��*< �) �324 A;��G �b2� = ���� ��;2) C�4
�� ���@ 5� r	X� 
)�^ U;� ��� Ub� }6�) �8%	� �� ��4$*�� �9$*� C��2G�$:�) [�E 
J
� �) ��9 A�$ :$ = ����) . $R6

�3��$= "�=U�$ �) ����  �
  �H�*F 1�J�$ ��$� �*9= ��� 5������ ���9 C�4.  
         ����  	;kJF �) j�bF�$ ��5� \�H� ��� ��=� \*+ �� ?U;�@ �;��*� 1�: ��*;G C$	) 1��: A�	3�) ���) . ��� ��=�

5� p�
� ?>��*;G �� ]4 = ���G �� ]4 '*h :$ ��*G e`$= = 1��@ 1�� $�9 f�	+ :$ .�	� ��	< . A�	3b����
 P�$	� �� ��*;G 1��:��$ U;��G 
X� 
�$=$ = 1�32)�F 
X� 	�$=$ �� 1�3�:*� 1�3�$.  ��$*9 5�$	;< 	k $�%)87-80 (%

 5N;O� C��� ��30  �F34 53��� �9��  5b2� �)*+� �� �$	<)RH ( :$45  �F5/73 %5� ��� �) ��@ . �� ��$*9 5�$	;<
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A;��G 5b2� �)*+�  :$ 	F36 %��� =C 20-5/18 53��� �9�� 5� "4�  �$	< �)�� .��*< �) ���) ��*;G 1��:  '��3�$ C$
���2��� �  ��	< ��)�;) $� [:o [�JO3�$ �D	� �� ��*;G ��� :$ 
D�% ����J� = �	F C�4 . A�$ 	;S �� �  $	h

I8F \��3%$ #�*D ��$� �4$*� �*9= [	< �� �	� 
X� \*+ �� �� ��*;G :$ 5�	) 1��. 
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       درصد اسيديته قابل تيتراسيون -١
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